Tableaux des Puissances de Dix (D)

Multipliez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (D) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 6 000 0,06 60 60 000
4,91 29 460 0,2946 294,6 294 600
5,39 32 340 0,3234 323,4 323 400
6,8 40 800 0,408 408 408 000
8,44 50 640 0,5064 506,4 506 400
9,23 55 380 0,5538 553,8 553 800

X 40 000 40 0,004 400
2,92 116 800 116,8 0,01168 1168
5,03 201 200 201,2 0,02012 2012
7,15 286 000 286 0,0286 2 860
3,41 136 400 136,4 0,01364 1364
6,65 266 000 266 0,0266 2 660

X 0,4 40 000 400 4 000
6,34 2,536 253 600 2536 25 360
4,98 1,992 199 200 1992 19920
9,76 3,904 390 400 3904 39 040
8,03 3,212 321200 3212 32120
1,08 0,432 43 200 432 4 320

X 70 0,0007 700 0,007
7,3 511 0,00511 5110 0,0511
5,14 359,8 0,003598 3598 0,03598
9,77 683,9 0,006839 6 839 0,06839
1,52 106,4 0,001064 1064 0,01064
6,4 448 0,00448 4 480 0,0448
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